iMac Pro VESA Mount Adapter

With the VESA Mount Adapter installed, you can use your 27-inch iMac Pro with

a variety of VESA-compliant mounting solutions, such as articulating arms or wall
mounts. Use the adapter only with a VESA mount that can support the weight of
your iMac Pro (21.5 pounds or 9.75 kilograms). Follow these instructions to install
the VESA adapter on the back of your iMac Pro.* You can then attach your iMac Pro
to a VESA-compliant mounting solution. Make sure the VESA mount you use
complies with the VESA FDMI (MIS-D, 100, c) version specification.

Your VESA Mount Adapter Kit contains:

VESA bracket Access card

T10 Tool
M2.5 x 0.45 mm
° ° bracket screws (2)
o o o () o M4 x 0.7 mm
I I flange screws (5)
VESA flange

You'll also need a soft cloth and a flat work
surface, at least 30 inches by 30 inches
(approximately 76 cm x 76 cm).

*Some markings on VESA Mount Adapter apply only to iMac Pro. English

1



1.
Disconnect the Power

Turn off your iMac Pro and disconnect the power cord
and all cables.

2 English

2.
Orient Your iMac Pro

Drape a clean soft cloth on a flat surface. Holding the
sides of your iMac Pro, carefully place it so that the
screen is resting on the cloth.

Align the bottom of the iMac Pro display with the
work surface so that the stand hangs over the edge.

Gently push down on the stand until it stops.



3.
Expose the Screws

To unlock the stand, insert the access card above
the stand hinge at an angle to engage and depress
the latch. Insert the card up to zone @ marked on
the card, then push the stand down farther to
expose the screws.

If the card goes in past zone @, you've missed the
latch, so try again.

WARNING: Use only the access card provided with
the kit for this step. Use of any other object or
instrument could damage your iMac Pro or possibly
result in personal injury.

English 3



4.
Detach the Stand

Use the T10 tool to remove the screws on the stand.
Remove the center screw last while gently supporting
the stand. Store the screws and the stand in a safe
place in case you want to reattach them.

Important: Do not insert the access card after the
stand is removed from your iMac Pro.

4  English



5.

Attach the VESA Flange

Align the slots in the flange with the pins on the back
of your iMac Pro. Use the T10 tool and the included
five M4 x 0.7 mm screws to attach the flange.

English 5



6.
Attach the VESA Bracket

Place the VESA bracket over the flange until the
pins on the flange align with the pockets in the bracket.
The bracket should drop into place and not move
easily. Use the T10 tool to screw in the included
M2.5 x 0.45 mm screws until they are flush with

the bracket.

Note: To reattach the stand to your iMac Pro, reverse
the instructions in these steps. It's important to insert
the included access card to raise the stand to its
original position after you reattach it to the computer.

6 English

7.
Attach Your iMac Pro to the Mounting Solution
Follow the instructions included with your
VESA-compliant mounting solution. Make sure you
mount your iMac Pro so that the bottom or back
ventilation openings aren’t blocked. Do not place the
iMac Pro where ventilation is restricted (for example,
in a cabinet).

8.
Reconnect the Power
Connect the power cord and cables to your iMac Pro.



iMac Pro VESA Mount Adapter

VESA Mount Adapter 2B 1 2&. 7U—T—LwERIELE, SFEFEL VESA BIROREAT 27 1>F

iMac Pro ZftfigdencEEd, 79 749(E. iMac Pro (9.75 kg) OBE(CHIEL TS VESA RES(ICD
HEALTLIZE V), VESA 749 74%% iMac Pro OB BEICEWATBIC>. U TFOFIBICRH>TIZE L, *

ZOD#%. iMac Pro = VESA BB BEACIIM TN TEET. FATS VESA &EASH VESA FDMI
(MIS-D, 100, ¢) N—=Y3>OHRICERLTW\B Z =ML TS,

VESA Mount Adapter Kit [Zl3, UTFOEOHEENET :

VESA 73%7vh ToERH—K

T10 K341
° ° M2.5 x 0.45 mm
T4 vbRL (x2)
o ) ) ) ) M4 x 0.7 mm
I I 75vYRL(xb)
VESA 25>¥

ZOENC, REHOWHETSRIEES
(#)76 cm x 76 cm M k) £24BTY,

*VESA Mount Adapter LO—E0L3L(3 iMac Pro [CO&FEREINET, B3

7



1. 2.
BROBHZRRTS iMac Pro 0EEZHET3

HEVOD iMac Pro DBREYY, BRI—JILBEIRTOT—TILE EEBLCENVERSNVHEZREET. IMac Pro ORIEZRS.
FVE S BIEA T3 LSICUTAD LCZoEBEET,

iMac Pro M5 > RHIMEEANSENTHBLS(C. iMac Pro
DFAATLADTIHEAEEBDTHEADEET,

RYYRMIEEBE TIPS LIRLET,

8 HBA:HE



3.
RLZBETES

29 ROOvIZEFITBICIE. 29V RO IO LICT7IE2h— R E
EUAHET., A—RESYFHMBEL. SvFARINBLILGAET
EUAATREEN, H—RICHFEINLY - @ DETBETH—R%E
EUAATHOS, RIVRZSHCTRCMLTRLZEHIEET.

V= @ SVERCH—REELVATLEDE, FyFElHFaL
Fh, H—RERVTPUBELTIZEL,

B ZOFIETE. FYMHBLTVWATVEAH—ROHEEBLT
<EEV. ZOBHOEOPEEEEAIZE. iMac Pro ABIELTZY,
BILLOTFIAZLEVTBHEZNABUET.

BAE 9



4.
29 VRERIHNT

T10 RSANZFE>TRIVRORLENLET. PROBUE.

29V REBKZBMNOREICHLTIZZ V., £5—ERIMIZEE
D®(E. BUERYYREREBIBRICRELTZZ L,

ER : iMac Pro h 629U RESNUTZRIC TV E AN —REZLIAEZL
TLIEEW,

10 843



5.
VESA 75> %RU113

7YY ORE iMac Pro OFEOREDMIEEEHEET,

T10 RSANERED 5 AD M4 x 0.7 mm BUEFE->TIZY V%R
POGESS

BAE 1



6.
VESA 737 vhBY 113

75V IO LI VESA TS vhEBE. 77V Y0RRETITVE
DROMBEEDEET, TF7yMPTEDABCIEE.
AECEBHEBVLSCRYET, T10 I/ E>TRIED

M2.5 x 0.45 mm BUEHHET. RUOTNTF7vhOEEKTFIC
BRETHHTIZEL,

2% : 29VR% iMac Pro [CBUBWMAIT2LEE, Tns0F
JFEEIC Tz ESTLIEE W, RY Y REI2Ea—S([CBURVET
I2BalE. BRO7IEAN—REEVRAATRYY RETTOMBE T LT
BIENEETY.

12 BAE

7.

iMac Pro 2% E&([CRW1H3

VESA SEHOFZRERICHBOERECH-TIZZ L,

W3 BEEC, IMac Pro O FEREZIEHEDBROZ 5SS HZNE
SIELTKEZ W, BRAHESNBHMIC iMac Pro 2BAERW T
TV (RezlEFvERybOFLE),

8.
TRICERTS
Q—RBEDT—T)L% iMac Pro [LDBEET.




iMac Pro VESA 2233

LEEYF VESA 4248 fE, MULUAERE VESA MISMESMZEMASR (BINEE 20 E L 20)
R 27 #~F iMac Pro, 1B{UELIL 38 58E08785F iMac Pro (9.75 Afrsl 21.5 §) =28 VESA
SEOEA(ERA. B TR VESA $#£1222%245%] iMac Pro BE. * A&, B iMac Pro
BIEZIRE VESA HIEHZRBRAAR b, WIREERR VESA Z22/E VESA FDMI (MIS-D, 100, ¢)
FRARIFIEER,

VESA XREERBENES:

VESA {2 HREFR

T1I0 I8

M2.5 x
0.45 =X
FERRIRLL (2)

M4 x 0.7 X
EZR4 (D)

VESA =

EARE—RRHN—DFENTEAHE,
Z 76 K x 76 XK (K9 30 3~ x 30 &) .

*VESA 2ZRieHAR EMENIRS(UERT iMac Pro. R 13



1. 2.
B FFERIR #%% iMac Pro
#& iMac Pro kAR N RIREA A EREL. BFRNRAEETTIENAA L. At iMac Pro

BONL, EFRBATVLISEIRS L.

B iMac Pro 2/ RREHEES TEAENTT, ILRESS
N LT,

BRIRTRE, BEETRMET .

14 @R



3.
fEIRLLINE

ERMRYREE, BRIRERRIENREREE E5 S H
EEHH]. FREBANRETERBERA LR

X @, AR E TR S,

THREANREBIXE @, NIRHREET T 9H,
1BBIE—IR.

[EE] EX—Fd, BIREREHRHIIFEF. 2R
IR AL TETTRERIRIFAER iMac Pro SSRIA
EUES

@tk 18



4.

EI TR

f£F3 T10 TRFE T EE EMIRL, REHTPEIER
LAY, BRIKIRE. BRBRLAREEREZ AT
BELERA.

[EEEW] M iMac Pro BINEERE, 521
NIRED .

16 MR



5.
EIE VESA A=

BEZ EMETLS iMac Pro SERRALIISS. £ T10
TEAEMNAT M4 x 0.7 ERBLETEE=.

@tk 17



6. 7.
EE VESA £22 ¥ iMac Pro BIEZIREMAHTER

& VESA HERWENA= £, WA= SHR ENETL. RIRFME VESA MURHZARARIRTI RFANHHIR AR T
FRSFERE. EA T10 TEIF AR HRIE. BEIRRZRIE iMac Pro RSB ERIBIAR O IE
M2.5 x 0.45 XK, RIRLSHITTE. BEN. 1724 iMac Pro METDENRRIIHTS

(BIantEAE) .

8.

EfmERABEIR

IR E L ERE] iMac Pro.

[F] BERRESEHZRET iMac Pro, ERRFHRIE
EREEENS], FRIEME, ERREERLEEIEM
&, EEARHOFE R REREERRAGE.

18 MERFX



iMac Pro VESA &%

L VESA BAME - Bal UAEL 25 VESA MR A =EM 27 VK iMac Pro » HIANESEN U By EE
22 o EHMERTZIE iMac Pro 2 (9.75 AFsk 21.5 ) #) VESA #ERZERL - BAIKBLUTIE
TNARHE VESA BZRREEE| iMac Pro & - * HEMET U iMac Pro #5:%%) VESA MR -
AT ERMN VESA HEZRFE VESA FDMI (MIS-D, 100, ¢) KRR -

B
TI0 I8
M2.5 x 0.45 mm
° ° AR (2)
(-] (-] (-] (-] (-]

VESA REE8E -

VESA #52

M4 x 0.7 mm
D8R4 (5)

VESA D&

BMFEZBNAR - WEREELDH 76 X 76 A5
(%930 x 30 20¥) HOPE LHER -

*VESA R4 LHIERA SR EBAR iMac Pro - ZREhz 19



1. 2.

BRBIRAR #%1F iMac Pro HIfIE

# iMac Pro REIL IR EIRHFTA 2 - EFIBRER RPN - 32 iMac Pro mif -
R RERE L -

#% iMac Pro 8B MERETIFRAHE - HREBRESE -

KRR TE - BEIABEE -

20 R



3.
RHIRAATL

HERHEE - SR FUBRARIRERERR LT
ANETRE - FRBAZ R LARRERE @ fRE -
RE T RELURIIRMHTL -

MRERBABBES @ MAE - FTEHBT RM0E
AR -

EE  PUTIOHE - SECRRBRMERINIERLFE - EREER
iRt R REGBIR iMac Pro SUEEASHES -

S 21



4.

BRI

B/ T10 TEMRIFIREE EAR4 - RABIIRPRINRE -
WIIHREEE - iRHNBEEREER2MOME - IEREEE
EMEL -

EERSE - BEEN Mac Pro LIflRE - B7EREHFEA -

22 HREh



5.
# F VESA "%

#EM4% EROFEIBER iMac Pro SERIERIEE - £/ T10 TR
FEREOTLE M4 x 0.7 mm SRAASEHE Fs

i
l

Zpgchr 23



6.

# I VESA 2

1% VESA $EZREND5 75 - BRI EHEMIERIESR EAME
HE - REZSZERUETEESBY - £/ T10 TERE
FEMIE) M2.5 x 0.45 mm #2440 E  IE(REIHRZZEITT -

EE - EEREEER iMac Pro - @BRERIEU EEEE -

PEEEEEN LR - FRELEARNNRET - BEEESER

FHIE -

24 R

7.
#% iMac Pro #EI%R5E

i8R VESA 1REERTTRMEMAIETRIRIE - 24 iMac Pro i
FHEBAERB T AUEENNEI - FOREES YR

iMac Pro BIEAEORIE (FIRNHEIES) -

8.
EEEER
GEIREAEEEREE] iMac Pro -



iMac Pro VESA OI2E 0o{H¥EF

27% iMac Pro0il VESA OF2E OIHfE S X[t £ @f fEi= & ORRES 22 Lol VESA oot 0teY 2248
Ar8E 4 QIELICE o] O{HE{= iMac Pro2| £&(9.75Z21%) S X|gdk=s VESA OI2E0|2H AFESHIAIL.

iMac Pro2| 2810 VESA OffES 2X[5l2{ C15 X[HS EYAR * 2 015 iMac ProS VESA =@t 0k2E
SRM0f| 2AfS 5 USLICH AFEShe VESA 0F2EJH VESA FDMI(MIS-D, 100, c) BiE Al Seteli=X]|
SISk,

j

VESA 0I2E of#E| 7|E HiF 714:

VESA =242 y2ts

T10 &7

M2.5x0.45mm
Hai30 LEAH(27H)

M4x0.7mm
EUX LIH(E7H)

VESA Zaix|

*VESA OF2E OfgiE{] @ A= iMac Prooiet s ElLich. o501 25



1.
Tl xetsty|

iMac Pro2 1 T 3E9F 2E 70

26 =0

2 SiF[SHAlI2.

2.

iMac Prog zief 3ztol| 57|

S Y 32 20 MfNol D RELiR HE
iMac Pro®| %215 &1 3pio| ol F=5
7t 7bEXr2|of Z2l=% iMac Pro ElAZ2{0]9] Sttat

o
EEELIESINEN

X
x|

HE WK XX|CHS SEZ OffZ DlEA 2.

EE]



3.
LA 22[517]

IXICHE 22loteid, 2fxiet 22 5 + U= AEE T2 IH=E XX
TR ATl JRSHIAIR. FLE0] HAIE @ SEA| FHES LY
XIX|CHE ©f OFHZ UOf LIAME E2[BHHAI2.

FIEE Mot HE0| @S G0 2iX|2 $E2lX| 87| W20 CiA

il

AEBHIAL.

Zm: 0| TS U uff 7| S0t e MBE Ha IR AgotEAIL.
2 S 7I7E AHEH iMac Pro7t &4 5L HoiE S 4
QUELIC

ool 27



4.
ZIX|cH mlofLh7|

T10 =75 AS310] XIX|EHOIM LIS FI7{BHAI 2. XX |ChE £22
X|X[oh HEHZ SYC| LIALS DXt 2 H|HSHIAIR. LIS0| CRA| SAfet

BRE CHH[SO] LEAR XIX|EHE QHHSH 20 HSIHAIR.

S2A: iMac ProdilAf XIXItHE H7H3H 2ol H 71ES HUsHR|
DRIAI.

28 ohEof



5.

VESA E3#x| £16t7|

Ex|e| 2 iMac Pro 89| Bt 2Xpie2 gxEMAR, T10
Eoh metE 5719] M4x0.7mm LIALS Ar85to] SHXIS RAGHIAIR.

ool 29



6. 7.

VESA Ea{3l #535t7] iMac Prog ot2g
EaHx|o| ol =afzlel of VESA sgtotee & 2HAL. BIEo|Lt ST
FoUAR. Belzlg 2HtE 2IX0f FotoF B2lzl0] X{0|X| &Lt SE IIXIX| == iMac Prog 0H2Ed)

T10 =75 Atg0to] ZatEl M2.6x0.45mm LiAP B2f3lat +HS Y2015 01 +2ET Z2)0l iMac Pros 2%
OIS Z0|gA2.

203} YES VESA H2f212 e 9

As S

o |
HAR, 30 £IX| g

=
x| OtdAl2.

o

8.
CHAl e A Zs}7|

T AECQLA|0IEE iMac Prodf 1EsHAI2.

A3 RIS iMac Prooll Ty SAfstalet of S vtz
SHUOHIAIL. IXICHES ZBE( CHA| A8 3 22HC)2 KIXIChE M|S2iB
TpiElof Y W IICE HYUSHIAL.

ERSEL]

30 @=0f



Adaptor Pemasangan VESA iMac Pro

Dengan terpasangnya Adaptor Pemasangan VESA, Anda dapat menggunakan

iMac Pro 27 inci Anda dengan berbagai solusi pemasangan yang sesuai dengan VESA,
seperti artikulasi lengan atau tempelan dinding. Gunakan adaptor hanya dengan
pemasangan VESA yang dapat menahan beban iMac Pro Anda (21,5 pon atau

9,75 kilogram). Ikuti instruksi ini untuk memasang adaptor VESA di bagian belakang
iMac Pro Anda.* Lalu Anda dapat memasang iMac Pro Anda ke solusi pemasangan yang
sesuai dengan VESA. Pastikan pemasangan VESA yang Anda gunakan sesuai dengan
spesifikasi versi FDMI VESA (MIS-D, 100, c).

Kit Adaptor Pemasangan VESA Anda berisi:

Braket VESA Kartu akses

Alat T10
o o M2,5 x 0,45 mm
sekrup braket (2)
) () ) o ) M4 x 0,7 mm
I I sekrup flensa (5)
Flensa VESA

Anda juga akan membutuhkan kain lembut dan
permukaan kerja yang datar, setidaknya
30 x 30 inci (sekitar 76 x 76 cm).

*Beberapa tanda di Adaptor Pemasangan VESA hanya berlaku untuk iMac Pro. Bahasa Indonesia 31



1.

Memutuskan Daya

Matikan iMac Pro Anda dan cabut kabel daya dan
semua kabel.

32 Bahasa Indonesia

2.
Mengatur Orientasi iMac Pro Anda

Lapisi permukaan datar dengan kain bersih dan lembut.
Dengan memegang sisi iMac Pro Anda, letakkan
dengan hati-hati sehingga layarnya berada di atas kain.

Sejajarkan bagian bawah layar iMac Pro dengan
permukaan kerja sehingga penyangga menggantung
di tepi.

Tekan penyangga dengan perlahan hingga berhenti.



3.
Memperlihatkan Sekrup

Untuk membuka penyangga, masukkan kartu akses
di atas engsel penyangga pada sudut tertentu untuk
menemukan dan melekatkan kait. Masukkan kartu
hingga ke zona @ yang ditandai pada kartu, lalu
tekan penyangga jauh ke bawah untuk
memperlihatkan sekrup.

Jika kartu masuk melewati zona @, Anda telah melewati
kait, coba lagi.

PERINGATAN: Hanya gunakan kartu akses yang
disediakan dengan kit untuk langkah ini. Penggunaan
objek atau instrumen lain dapat merusak iMac Pro Anda
atau kemungkinan yang dapat menyebabkan

cedera pribadi.

Bahasa Indonesia 33



4.

Melepas Penyangga

Gunakan alat T10 untuk melepas sekrup pada
penyangga. Lepaskan sekrup tengah terakhir kali
sambil menahan penyangga dengan lembut. Simpan
sekrup dan penyangga di tempat yang aman jika Anda
ingin kembali memasangnya.

Penting: Jangan masukkan kartu akses setelah
penyangga dilepas dari iMac Pro Anda.

34 Bahasa Indonesia



5.

Memasang Flensa VESA

Sejajarkan slot pada flensa dengan pin di bagian
belakang iMac Pro Anda. Gunakan alat T10 dan lima
sekrup M4 x 0,7 mm untuk memasang flensa.

Bahasa Indonesia 35



6.
Memasang Braket VESA

Letakkan braket VESA di atas flensa hingga pin pada
flensa sejajar dengan lubang di braket. Braket akan pas
di tempatnya dan tidak akan mudah bergerak. Gunakan
alat T10 untuk mengencangkan sekrup M2,5 x 0,45 mm
yang disertakan hingga bergabung dengan braket.

Catatan: Untuk memasang kembali penyangga ke
iMac Pro Anda, balikkan instruksi dalam langkah ini.
Sangatlah penting untuk memasukkan kartu akses
yang disertakan untuk menaikkan penyangga ke
posisi aslinya setelah Anda memasangkannya kembali
ke komputer.

36 Bahasa Indonesia

7.
Memasang iMac Pro Anda ke Solusi Pemasangan
Ikuti instruksi yang disertakan dengan solusi
pemasangan yang sesuai dengan VESA. Pastikan
pemasangan iMac Pro Anda tidak menutup lubang
ventilasi bawah atau belakang. Jangan menaruh
iMac Pro di tempat yang dapat menghalangi
ventilasinya (misalnya, di dalam lemari).

8.

Menyambungkan Kembali Daya
Sambungkan kabel daya dan kabel lainnya ke
iMac Pro Anda.



azunlnes VESA Mount 284 iMac Pro .

\afnsaezuatines VESA Mount uad amzanansaly iMac Pro qu 27 @)

Auuviudaninsgiu VESA Tsannwaneds v wenduBadauriuBauumis
Tdfazumlinasiannziuuriuiia VESA ‘nmmmsaﬁuﬁ'mun iMac Pro ﬁmﬂm'lm (21.5 Uausvsa
9.75 Alansu) mmumuuvmmmmwamﬂmauu,ﬂﬂmas VESA fisuwas iMac Pro

BNl u,mﬂmnmm‘mmuwuﬂmmmﬁm VESA 1#11iu iMac Pro mauuu2aenm
Tusansesauliuileinuviuiia VESA wqm’lmﬂﬂﬂmwanmuﬂnawu VESA FDMI

(MIS-D, 100, c)

ganzuathaas VESA Mount aasqmii:

utiudn VESA dasdmsuilagunsal
\A39iia T10
° ° M2.5 x 0.45 uu.
angfia (2)
() o ) () o M4 x 0.7 au.
I I angvitudau (5)
wiuiau VESA
uany il Y6 ainjuuaziuiineuiidey

#fimunaagaias 30 1 x 30 i
(Uszanew 76 ow. x 76 2n.)

*aFaaneuegnuazuatiaas VESA Mount Usil#i iMac Pro wimiu Mwlng 37



1.
nanaelnean
ﬂﬂmim iMac Pro aasqauusnanaglnuazanenieg

VNVINﬂiJiJﬂ

38 mwlne

Z.

AHUARIUANY |Mac Pro aasa®u
ﬂqmuuaummuuwummwu ¥3u iMac Pro
299AAINEUIN 1NaATBIBE TR IR
Tyimiresaguuri

IO mummm‘uawamw iMac Pro
IwazﬂuLunmmnuwu*nmr\uma’lwmmaﬂunnwau

DB duzdIasaunitazgn



3.

lasngeen

lunsanfannnd Widzuniasdwiudagunsal
wmuuumuwummmswmwamauuaunmﬂaﬂ
LazmumﬂmT'zm (1] ‘ZNNLFﬁiJ\IVIN']ZIﬂEHJ\!UVﬁ
leﬂmnmaﬂmmﬂﬁuma‘lmaniaan

diasiunlylulow @ uansigaudsuiasaan
Idanrindnasa

ﬁ'llﬁﬂ\! 'lmaw*lvumimwmLﬂmaﬂnimwlwmwsaunu‘nﬂ
aﬂnimmwiu‘uumauu mﬂmmnmaaﬂnimaumﬂm'lu
IMaC Pro ﬂﬂ\\ﬂﬂllﬂﬁ?ﬂﬂ?ﬁﬂﬂ’ﬁ)ﬂ\lNa“l“lﬂﬂﬂ"liu']ﬁli)uﬂ']u
yaaale

aMwlng 39



4,

aeamAs

dia3asiia T10 Lwanamaniaanﬁnnmm
naAANgATINAEaNTNEA lLIMIETiAa Y WeP16a
usnguazenaaliluiiiaeasamnam
saanslanaungnlulvai

mmncu asdgminsdmsuiilagunsaivdianniinen
aneseanan iMac Pro VDIAMUE?

40 mwlne



5.,
Anasniulau VESA
Sonazeudzulumiuaulvasdumeuusinmd

iMac Pro 20900 ldiaasiia T10 uazang M4 x 0.7 au.
wditlindsfiadasaminuay

Mwlng 41



6. .

Aausiua) VESA

Mausiue VESA 17uuwu7uﬂauﬁmquﬁuuwmuﬂaum
assiugasluwsiuen arsnausuainadruzaaitalaily
vanaandng Ieiedesiia T10 waduang

M2.5 x 0.45 aw. Aliinegaunitesfiuutiuan

AUNBIAG: 'l,umimmnm iMac Pro aaanm naunllus
Livhanasuusinluduaeumaninougaunay
dndhAndamadsutinsdmiuiliagunsoinlviindeiiiosn
‘uwﬂmauEjmuwuqmuwmmnwﬂmmﬂmmnauwﬂw
AaNIABT

42 mmlng

7.

fans iMac Pro aeqaudnuIsnsiia

yeueuusini linniuismstiaanasgiu VESA 289A0
aynasulvinileinguiiafndiaias iMac Pro
Lwa'lmvaﬁvmﬂmmﬂmuawniamwmlunnﬂmnu
281279 iMac Pro ‘luvuvumiiwmummﬂnnmnm (2w Tug)

8.
dsuans Inaugn v
euaglWuazanesne Wil iMac Pro 2aeqe



B0 tiép hgp gid d& VESA cho iMac Pro

V6i B tiép hop gid ds VESA dudgc I8p dét, ban cé thé stf dung iMac Pro 27 inch véi nhiéu
giai phép gid d& tuong thich véi VESA, vi du nhu céc canh tay cé khdp ndi hodc gid d& gin
tudng. Chi str dung bo tiép hop véi gid d& VESA cé thé d& dudc trong lugng cuia iMac Pro
(9,75 kg hodc 21,5 pao). Lam theo nhifng hudng dan nay dé Idp dat bo tiép hap VESA &
mat sau clia iMac Pro* Sau dé, ban cé thé gén iMac Pro vao mot gidi phédp gia d& tuong
thich v8i VESA. Dam bao rang gid d& VESA ma ban st dung tuan theo théng s6 k¥ thuat
phién ban VESA FDMI (MIS-D, 100, c).

BO tiép hop gia dd VESA cé:

Gia d& VESA Thé tiép can

Dung cu T10
° ° M2.5 x 0,45 mm
céc vit gid ds (2)
) o ) o o M4 x 0,7 mm
I I cac vit ban I& (5)
Ban 1é VESA

Ban cling s& can mot chiéc khan mém va mot bé mat
lam viéc phéng, kich thudc t6i thiéu khoang
76 cm x 76 cm (30 inch x 30 inch).

*MO6t s6 diém danh dau trén Bd tiép hop gid d& VESA chi dp dung cho iMac Pro. Tiéng Viét 43



1.
Ng3t két néi nguén dién

Tat ngudn iMac Pro va ngét két ndi day ngudn va tat ca
céac cap.

44 Tiéng Viét

2.
Pinh hudng iMac Pro

Trai mot chiéc khdn mém sach trén bé méat phang.
Git hai bén clia iMac Pro, dat can than sao cho man
hinh n&m trén chiéc khan.

C&n chinh canh dudi ctia man hinh iMac Pro v&i bé méat
lam viéc sao cho chan dé treo phia trén mép.

Day nhe chan dé xudng dén khi ding lai.



3.

M@ cac vit

DE ma khoa chan dé, hay I4p theé tiép can phia trén ban
1& chan dé & mot géc dé khdp va an I3y xudng. Lap thé
vao dén viing @ dudc danh dau trén the, sau dé day
chan dé xudng thém dé nhin thay céc vit.

Néu thé di vao sau qua ving @, ban da vugt qua vi tri
clia chot, do dé hay thir lai.

CANH BAO: Chi stf dung thé tiép can di kem véi bo
dung cu cho budc nay. Stf dung bat ky do vat hoac
céng cu nao khac déu cé thé 1am hong iMac Pro hodc
cé thé dan dén thuong tich cho ngudi.

Tiéng Viét 45



4.
Thao chan dé

Dung dung cu T10 dé théo cdc vit trén chan dé. Thao
vit & gilta sau cling trong khi d& nhe chan dé. Cat gitr
céc vit va chan dé & nai an toan trong trudng hgp ban
mudn l4p lai.

ong: Khéng I4p theé tiép can sau khi da thao
chéan dé khoi iMac Pro cla ban.

46 Tiéng Viét



5.

L3p ban Ié VESA

Can chinh céc khe trén ban Ié véi cac chan & méat
sau clia iMac Pro. Dung dung cu T10 va nam vit
M4 x 0,7 mm kém theo dé I4p ban &.

Tiéng Vit 47



6.

Lép gia d& VESA

Dat gid d& VESA I1&n trén ban Ié cho dén khi cac chan
tren ban 1& thang hang véi cac 16 trén gla ds. Gid do sé
gén vao vi tri va khong thé di chuyén dé dang. Dung
dung cu T10 dé 18p cac vit M2.5 x 0,45 mm kém theo
cho dén khi chiing ngang béng véi gia da.

Luu y: DE 13p lai chan dé vao iMac Pro, hay lam ngugc
lai hudng dan trong cac budc nay. Diéu quan trong la
18p thé tiép can kém theo dé nang chan dé dén vj tri
ban dau sau khi ban I13p lai chan dé vao may tinh.

48 Tiéng Viét

7.

L3p iMac Pro vao giai phap gia d&

Lam theo céc hudéng dan di kem vdi giai phap gid d&
tuong thich véi VESA. Dam bao réng ban I4p iMac Pro
sao cho céc 16 thong gié dudi hodc sau khong bi chan.
Khéng dat iMac Pro & nai thong gié bj han ché (vi du:
trong tu).

8.
K&t ndi lai nguén dién
K&t ndi day ngudn va cac cap vao iMac Pro.












© 2017 Apple Inc. All rights reserved. Apple, the Apple logo, and iMac are trademarks of Apple Inc.,
registered in the U.S. and other countries. iMac Pro is a trademark of Apple Inc.



